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ONR-002 : BASICS OF HYDROLOGY

Time : 2 hours

CERTIFICATE IN WATER HARVESTING AND

Maximum Marks : 50

Note: (i) Attempt any five questions.
(ii) All questions carry equal marks.
@iii) Use of calculator is permitted.

1. (a)
(b)
2. (a)
(b)
3. (a)
(b)
4. (a)
(b)
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What is hydrology ? Explain hydrologic

cycle using neat flow diagram ? 2+5=7

How shape and size of the watershed
catchment influence runoff ?

Define interception. Explain factors
governing interception.
Define infiltration and percolation.

Write water balance equation and define its
different terms.
What is extra tropical cyclone ? Write it's
characteristics ?

Discuss in detail the arithmetic mean
method for estimation of missing rainfall
data.

Describe tipping bucket type of rain gauge.
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5. (a) Explain the curve number method of runoff 5
estimation.

(b) Compute mean rainfall if rainfall recorded 5
in a watershed catchment at 10 rain gauge
on 14 August 2014 was 80, 60, 122, 86, 78,
54, 139, 81, 74 and 66 mm respectively.

6.  Discuss in detail the artificial sources of water 10
pollution.
7. Describe various physical and chemical 10

characteristics of water.

8.  Define the following : 5x2=10
(a) Terminal Velocity
(b) Biological oxygen demand
(¢)  Runoff Coefficient
(d) Time of Concentration

(e) Evaporation
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T () FEE uiE gv & I A
(i) WHt IV F 7F qHIT &
(iii) FCPHOI & TN HT YAl &1

1. (a) ISR Y ? Slld w05k h ah-geR e

%! HEE § Ty 2+5=

(b) IAEWR HEHS HI GEN TE HR, qeTo
(runoff) 1 HY Fuifaa H ¥ ?

2. . (a) oy =t uftenfya Fifew) faivm = Fafm
HA T FRET F 1T FHifQ

(b) AT iR Ha.waw =it gftnfam HifeQ)

3. (a) & Hger wHiew & fafa ok su faf
TR Tt A e Ff
(b) afeTorERfcadia Tshar 1 T ? T9F AU A
fafaw)
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4. (a)

(b)

(b)
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